SuMPO SuMPO EPD
VEPD  sirnmpes
=2

ZHES © JR-Al

(EPD)
5112E

RICOH

imagine. change.
HAE)a—

RICOH COMPANY,LTD

BEHA
WRIABLY

BEI REPE
L a0 Ol fE it
[RFRIRE, A, T8,
M- MR EE, BE- VY1)

HEDBX, TEMLHK-FET
A 1 P C375 (for NA) EDP 423960
FEMLER-FETT
-JUv5 (EPAR)
-£/70 328/4 h3-328%/4> (LT)
UM
- BEN M E IR EE
RARBYAZ LT

E[AY=Y oiclv

HASHYI- FEREAREXFHKIA-3-6

https://www.ricoh.co.jp/

SUMPORIESANITOYS A
— A EE A Y AT S IR HE M
REATHREXAHET-14-8
KANDA SQUARE GATE

EoE

https://ecoleaf-label.jp

Hh5—T)AR(EPAR)

P C375 (for NA)

EDP 423960
on

(= RICON

® [
BHES JR-AI-25112E
HEHAPCRES  PA-590000-AI-08
PCR# BRI ER
NS 20254108 15H
RIEEEE  202548A5H
WRIEAR YATLERIEA T
RIAES JV-Al-25112
WREEEZEAM  2030E884H

PCRLE1I-DEfE
REHBZ 2023F9H1H

ZER il B2
— MR FEANYRAT T IR B HEERAE
B=EHREE"
SMERAREL & WH #x

ISO14025(ZHE >R B E R UT—F DIz LR EE

OAER W AER

* 257 AR ESH B LANORIOS AL, VAT LARFET>LEEEDS
BI%ESH,

% (03)3777-8111 (f£%)

Z5ES 1 JR-AI-25112E


https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/
https://www.ricoh.co.jp/

SuMPO EPD SUMPOBRIESNIVTOT S5 s

SE“""I":"D _ — BT A AT IR A
o '07 F14TNEREEE (EPD) SR REXPIHE1-14-8
WERUFIE KANDA SQUARE GATE
Z$%&E= © JR-AI-25112E https://ecoleaf-label jp
OF1791 7 V2 EFHmE R
0% 20% 40% 60% 80% 100%
SURZEED IPCC 2013 GWP 100a 310 | kg-COzeq
AL 0.66 | kg-SO:eq
ERHE 0.1 kg-Sbeq o
u DR H = uQ%EE = QFiE
2F ] S| Bifig =1 OFMHRE OQO%fE QB | @R -#sEE CRE- Y1)
SURZEE) kg-COzeq | 3.1E+02 1.5E+02 2.0E+01 2.8E+01 7.7E+01 3.5E+01
[7ye(d kg-SO:eq 6.6E-01 1.8E-01 9.5E-02 4.4E-02 3.2E-01 1.7E-02
HRHEE kg-Sbeq 1.3E-01 1.3E-01 8.1E-05 1.2E-04 7.1E-04 1.7E-05
® A S e A © % = CB9 S BIEFLR
1HH B mE-9E (ERHS) B
FBERREER 2.3E+01 kg Sus 5.5E-02 kg
BAEAEER 3.3E+01 kg T7IVIZOL 4.7E-01 kg
L 5E 1.1E+01 kg
Z0MERE 1.5E+00 kg
EhA] A MBS 1.2E+01 kg
R AL A RE 7.3E-01 kg
52 3.1E-01 kg
myA 2.0E-01 kg
1% 3.3E+00 kg
HEH 3.8E-04 kg
35 A B EAR 2.7E-01 kg
At 9.8E-01 kg
ZDfts 0.0E+00 kg




SUMPOBRIESAINTOI S A

SuMPO SUMPO EPD B — B AT AT S VAR HEE S

.. ‘.E PD S4TNIBIEEE (EPD) HERMBTRERAHE1-14-8
VERIFIED KANDA SQUARE GATE
EHES © JR-AI-25112E https://ecoleaf-label.jp

GOEEHEICEATZEMIER
-BEEECAVWRYTUACBVWGEIRLEE R
- TUVHEPAR)
B ROEmITL - dek
-EEEFAEAM : 5ERM
-FEEEFRMEL : 60,00080%
KB G MREN S REASGCEDE BT EA
‘EREDEE (BRI O&REET ELTWERA,
SEAUEEBIRINF-25-F0J5 43 Ver3. 0T,

©-1.Z Dt DIRIFEIEIF IR

“BRINROHSHE W ICHEML TV ET,

A OB EEL, FEBRTHIFAMAE. MF-DEERISO14001FFEEEUE THICTITHN TV,
FEEES ¢ JQA—E-70001, SGS—CN18/20330 , BSI-EMS765926
https://jp.ricoh.com/sustainability/environment/management/iso

DERLEZRT-9DEZR A
IDEA v3.1.0, LU, TOVSLEFREMVIISEFERLTVNED,

®fE

O -YHEDH LR, PCRELVETE - EEREESRL LI,
OLLRIDOVTE BEE - EEREBICRESNEZHEHELIESEICLARDONEEA,
(BH5EURL : https://ecoleaf-labeljp/regulation/)
Fi#xES ¢ JR-AI-25112E



